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Instructions for Candidates

1. -Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt all questions.

3. Answers may be written in Hindi or Englis_i:x but the same medium should be
followed throughout the paper.
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SECTION - A
(@vs - )
1. (a) State whether the following are true or false. (Do any five) (1x5=5)
frfoRed a9 T SO FEE @Y | (S dr wY)
(1) Logic is the study of methods for evaluating arguments.
TR q A [ o sema 2
(i) ‘Therefore’ is a premise indicator.
‘zafo’ T amnam qoF 7 |
PT O
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(iii) ‘A’ & ‘E’ propositions are existentially negative.
‘A’ 3R ‘E’ qearad ATiAd €Y q AR © | |
(iv) Contraposition of ‘E’ proposition is ‘O’.
‘B’ dehare ol SiaRadT <O’ # 1
(v) ‘EAQ’ is valid in First Figure.
‘EAO’ WM 3mpfar & der 2 1

(vi) ‘All flowers are natural’ & ‘Some flowers are not natural’ are
contradictories.

‘@ B TFhE ' T T T WPHaw T8 2 AN et 7 )
(vii) Every argument is either true or false.

wE IR I ST e BN 7 )

(viii) The propositional form of ‘Every farmer is hérdworking’ will be an ‘A’
proposition.

‘T forar afertt 7 @ wifde w9 ‘A’ aaEd BRI
(b) Fill in the blanks. (Do any five) (1x5=5)
R el ot O ifw 1 (0 dfe &)
| () Ina_______ argument the premise supports the conclusion.
TE g A snunard freed @ e e 2
(i) ‘AAA’isa________ Mood in 2™ Figure.
AAMA TR sl o wamr 2

(i) ‘Some Sarenot P’ is _______ of ‘All S'is P’.

‘FEETTE T @R TR B
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(v) In_________ subject and predicates are interchanged.

— ¥ 3w o Yy v RadT F@ 2

(v) In a valid syllogism _—_____ term is distributed at least once in any

one of the premise.

‘THAT AR A 9% @ A &9 U OR DS W T uREr
¥ g g 2

(vi) Conversionof _______ proposition is not valid.
— e ol qRade du T8 2

(vii) Position of middle term in both the premise decidesthe _______ of
a syllogism. - ’
T STuNEE X e e o Ry R o FeiRa wwar 21

(viii) If both the premises of a syllogism are negative then the argument is
invalid with the fallacy of

Ife gl ot O URAI TERE B W G __ d@dy @
WY FAY o 2
(c) Briefly answer the following questions : (Do any ten) (2x10=20)

Frforaa well & A § SR AR 1 (1S T W)
(i) What is an argument ? |
Ife Y wed 27

(i) Define the fallacy of undistributed middle.

mmwﬁwﬁ@méﬁm

(i) Reduce the following sentences to their logical form.

FfaRag aAl @ 398 afdld ster § yRafda o

PTO.
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(a) Children are innocent

T AR B

(b) Every person is not experienced.

W A SR T8 S |

(iv) Why A proposition only distributes subject term but not the predicate
term ?

T A IR DT Io AT Al B a Rag 98 7

(v) ‘What is obversion ?

‘Hﬁ_il'é"f w87
(vi) Construct an argument having fallacy of four terms.
TIHE AV Fad Ul A EE BT |
(vil) Why contraposition of ‘I’ proposition is not valid ?
T ] A @ ARRar du S 2 7
(viii) Give examples of two contradictory proposition.

A AT T el ol IeET ST |

(ix) State the rules of conversion.

qRaa @1 s =ad |

(x) What is a proposition ?

dhare fod wea & 7

(x1) What is a Mood ?

ATE A 9 R FHA B 7
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(xii) What are the different Figures in syllogism ?
~agf @ e sl san ?

(xiii) Do as directed :
ﬁi&lﬂ%ﬂ? aﬁm:

(a) Some politicians are honest. (contraposition )

TS Torifew $arer ¥ 1 (wfaRad)
(b) No animal is rational. (contrary)

F1E TR fardla 78 21 (Reda)

2. Answer any three of the following : (5x3=15)
Frafoaa fedl i =1 Swr A :
(1) How A, E, I & O propositions are related to each other ?

A,E, 1 9 O 9aiared U T A 3 ol € 7

(ii) Distinguish between a contradictory and contrary relation.

rard aur faada d9u « N Fifw

(i) How does fallacy of illicit major different from fallacy of illicit minor ?

el e e A, JfFafRa e TE A A R e @ ?

(iv) Distinguish between a valid and an invalid argument.

T qy AR Iy gf A AR T iR

(v) What is the difference between a mediate and an immediate inference ?

wafed T rEafsd A A F9r iR @ 7

PTO.
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(vi) What do you understand by ‘Distribution of Term’ ?

‘ot 9 i’ ¥ IT T qWE 2 7

3. (a) Reduce the following categorical syllogism n its standard form and name its
mood, figure and also test its validity/invalidity. (Do any one) (6)

FeafRea e i« \E R § wRafda AARK T I =,
R H AW FA1SY AR e /Fuer TR | (i gah awR)

(1) No Eskimos are ferocious creatures, because No Indians are ferocious
creatures and some Eskimos are Indians.

S TRl e W TS 2, e S R s T T 2 e s
Real wRaT B 1

(i) All mathematicians are good logicians because all good logicians are
professors and all mathematicians are professors. '

o7 PET 3RS dRTE € AifE W IS dSTE WeesE 8 AR

Tfras AreATeE §
(b) Test the validity/invalidity of any two of the following : “)
freffe ¥ A el @ o Juw /v iR
i) AOO ---amemm- I
(i) IEOQO -----e--- 11
(i) EAE -----e--- v
(V) TAI <oemeeeev 00
SECTION - B
(@Wus - 9)

3. Identify and explain the informal fallacies committed in the following passages.
(any five) , (10)
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Frfofaa el §F swaReE Ty gRe Ik wrEm Fifvw ) (@ 9rE)

(@)

®)

©

d

©

®

(2)

(b)

Just follow me; otherwise your family will face the consequences.
A JRT TN, AT FER IRIR H IRORY e 26 o
All of us cannot be famous because all of us cannot be well-known.

B R N S NI G SR e ¥ S GG

No one has proven that ghosts do not exist, so ghosts exist.

Bt X o a5 fig 79 R 2 B s sRawae 78 O ¥ sm v AR
B} T

Every member of our dramatic society is a very good actor. Hence our
socity is the best amongst all.

aﬁmwmmwa@mm%l A FTAR TN AT |

Everybody should have Chyavanpras daily, because Sachin Tendulkar
recommends it.

W AN AFFT N G ARy, TR TR IgaR Jad! o5 w9 F

You advised me that I should not smoke but you are a chain smoker.

I 73 wone R 2 & W w18 wen e | g s FRE gae s
T

Where are you hiding the money you have stolen ?-
RN o T WA A I T FE R A ?

Men are numerous
Aristotle is a man -

Therefore, Aristotle is numerous.
T FE T
e T A B

I I IS B |

PTO.
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5. Explain and illustrate any two of the following :

i 3 3 e @ @ e @ EeT A

(5%2=10)

(a) Petitio principi
THE A
ib) Argument ad populum
ARwE AW
(c) Fallacy of composition
e A9 -
(d) Complex question

S TS A

(200)




	001
	002
	003
	004
	005
	006
	007
	008

